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DPCM Equations (1)

DPCM Principle
e(nTs) = m(nTs)− m̂(nTs)

eq(nTs) = e(nTs)+q(nTs)

mq(nTs) = m̂(nTs)+ eq(nTs)

mq(nTs) = m̂(nTs)+ e(nTs)+q(nTs)
[e(nTs) = m(nTs)− m̂(nTs)]

mq(nTs) = m(nTs)+ eq(nTs)



DPCM Equations (2)

mq(nTs) = m̂(nTs)+ e(nTs)+q(nTs)
[e(nTs) = m(nTs)− m̂(nTs)]

mq(nTs) = m(nTs)+ eq(nTs)

mq(nTs) quantized signal at the prediction filter
differs from m(nTs)by the quantization error q(nTs)
the avarage power of the prediction error eq(nTs)
smaller than the average power of mq(nTs)
the number of levels of the quantizer also reduces
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